ANSWERS — VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 4, Members Subject to Bending and Extension problem 4.090, page 263

Remarks: See 84.8, pages 198 till 203

Answers: Explanation:
a. o =—300 Cross-sectional properties:
og =60 l,, =t(4a)’ + £ 2t(2a)° = La’t
— 2 3 2 3
oc =+180 |, =4at(a)’ + 5 2t(2a)° + dat(a)” = La’t
O-D = +180-
_ (-80ca’t)xy (+52ca’t)xz
c. Equation of the neutral axis z =2y a. o(y,z)= 0% | %%
3 3
= (-80ca t3)(+2a) N (+52c0a ;)( a) 300
Da’t Xa’t
_ 2 2
o = ( 8O<2yoa ;t)(+a) N (+52;cea ;t)(+a) _ 6o
34 34
_ 26\(_ 2
o = (-80ca“t)(-a) N (+520a“t)(+a) _ 180
Da% 3%
- (-80ca“t)(-a) N (+b20a“t)(-2a) _ 180
Da’ B a%

c. Equation of the neutral axis: o(y,z2)=0 = z=2y
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